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Instructions for Candidates

1. Write your Roll No on the top immediately on recelpt
of this question paper. -

2. Attempt any 5 questions from Section A and any 5
questions from Section B. Clearly indicate the section
when answering any question.

3. All questions in SectiohA A carry 6 marks each, and
all questions in Section B carry 12 marks each.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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~ SECTION A
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How is simultaneous equilibﬁum determined in the
goods and money markets? Illustrate with the help of

IS-LM curves.
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2.  What do you understand by the crowding out of private

investment? Show diagrammatically how accommodating

: monetary policy can prevent it.
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3. How are the equilibrium real wages and unemployment

determined in an economy?
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4. What are the short-run and medium-run effects of an

g

expansionary monetary policy?

7 |

5. Explain the rational expectations theory of inflation.
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0. Lixpluin the mutunl relationship between consumption,

saving and interest rate, Dincuss how far the empirical

evidence supports the relationuhip,
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7. How is investment related to conditions in the stock

market?
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How is the slope and position of the LM curve

determined? Show the shifts in the LM curve in

fesponse to contractionary monetary policy.
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2. Consider an economy

C = 40 + 0.75 (Y-T)

T = 80
I =140 — 101
G =100

L = 0.2Y — 5i

M/P = 85

where C is consumption, Y is. national income, T is
lump -sum tax, Iis 1nvestment i is interest rate, G 1S
government expendlture L is real money demand and

M/P is real money supply.

Obtain the equations of the IS and LM curves. Also,
find the equilibrium output and rate of interest for this

economy.

P.T:O.
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C =40 + 0.75 (Y-T)

T = 80
=140 — 10i

G = 100

L = 0.2Y — 5i

M/P = 85 -
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Examine the different ways in which wages may

gbe set in an cconomy. Obtain the wagc-sett;ng

relatlon



setting relation) Wt =ik

4. Derive the aggregate demand curve. Show the shifts

of the curve corresponding tq the decre

government spending and increase iy, the 1

money supply.
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5. Explain the relationship between the inflation rate and

the unemployment rate using the Philips curve and

the expectations augmented Philips curve.
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6. Discuss the main determinants of the desired Cap.l ad
‘ 1 re

stock. Outline the effects of fiscal policy on the desi |

capital stock. A\
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Explain the permanent-income theory of consumption,

Compare and contrast it with the life cycle hypothesis.
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